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Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicate full marks. e T TTZ T YN [N #
Candidates should answer in their own words FI=RIN] [Ared ©IT I FFI *FHNT W
and adhere to the word limit as practicable. Ge7 ofara

Answer any three questions taking at least one from each group (A & B)
TG (ACF AGS W w3 et farw b femfG amam Taa wie
GENERAL IMPRESSION: 2 MARKS
YIS TRFGTI 3 THd
GROUP-A
faem-=

I Write in short: 4+4+8

e Teg mgs

(a) Explain with example the principle of Existential Generalisation (E.G.).
Fifes Farieae Mol Turzaemz G11 T

(b) What is a substitution instance? Give example.
fIte=m v21e 10 A ¢ TuIZad 1S |

(¢) What is a normal form formula?
Find the normal form equivalent to the following:
e fafeorena e «:
(1) ~(3x)[~(Oxv~ Px)|
(i) —(3)[- (- Hxv.\y)]
(i)~ ()|~ (Sx- ~7Tx)|

2. Construct formal proof of validity of the tollowing (any four): 4-4=16
fermferfe Yfeefa wrem@ere tare! ewe wae (@-@E orafG)
(i) Some photographers are skillful but not imaginative. Only artists are
photographers. Photographers are not all skilltul. Any journeyman is skillful.
Therefore. not every artist is a journeyman.
HE Y| (A-(FA TR 5% | Fgare, 7 g gefeers
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(i) (X)[(Axv Bx)D(Cx-Dx)]/..(x)(Bx2Cx)
(i) (x)(GxD Ex)

() (Wx~Sx)

(3 (Mx-~ Ex)/o(3x) (~ Gy~ Sy)
(V) (V) (Fy20Ox)

(3X)(Fx-~Gx)/ o (x)(Gx D Fx)

(v) Bananas and Grapes are fruits. Fruits are nourishing. Therefore. bananas are
nourishing.

T O TG T T | T 2 SR | [odR, FAl W ARSI
(vi) (x)(Ix>Jx)

(3x) (Ix-~ Jx)
S(x) (JxD Ix)

Det.ermme the invalidity of the following arguments by the method of truth value  4x4 = 16
assignment (any four):

FETY] SCANA = (e yfeafcd sitagel ene acai (-0 51a16)
() (X)(Px D~ Q)
(X)(PxD~Rx)/..(x)(RxD~ Qx)
(i) (X)[(Fxv Sx)D(Cx v Rx)]
(xX)[DxD(SxVv Rx)]
(x) (Fx=Cx)
(3x) Dx
S(3x)(Sx- Rx)
(i) (Ix)(Bx-~Cx)
(x)(Dx>~Cx)
S(x)(Dx> Bx)

(iv) No diplomats are extremists. Some fanatics are extremists. Therefore. some
diplomats are fanatics.
(@A FhAeE® 79 bau72 | (@A @A a5 Afe 20 vawe3 | Teaa, @
(Il FhIfoes 4l |

(v) If anything is metallic. then it is breakable. There are breakable ornaments.
Therefore. there are metallic ornaments.

T (@it g 41ga (o 70 ©7= O ©3a | oa siEel Wz | Hedl, 41ea (ofa 9%l e
R |

(vi) All anarchists are bearded. All communists are bearded. Therefore, all
anarchists are communists.
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